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Q. Read the paragraph and answer the following questions.
It was so pretty. It had brown spots on its yellow wings. But butterfly looked
sad in Sonu’s hand. Sonu wanted it to be happy.
1. Who looked so pretty?
a. Sonu
b. Butterfly
c. Both
Ans. 1 (b) Butterfly
Feedback - It refers to butterfly.
2. What made it look pretty?
a. Brown spots on yellow wings
b. Yellow spots on brown wings
c. Yellow spots on yellow wings
Ans. 2 (a) Brown spots on yellow wings
Feedback - It had brown spots on its yellow wings
3. Butterfly looked unhappy because it.........cccoceeeeerveecreecrnennee.
a. was ill
b. can fly
c. cannot fly
Ans. 3 (c) cannot fly
Feedback-It can not fly in Sonu’s hand
4. Write full form of Sonu’s hand
a. Hand of Sonu
b. Hand for Sonu
c. Both are correct
Ans. 4 (a) Hand of Son
Feedback - The reason "Hand of Sonu" is correct is that it tells us the hand belongs
to Sonu. "Hand for Sonu" doesn't give us the same information, and it could mean

a hand intended for Sonu but doesn't indicate possession.
SPELLINGS



5. Name a tree which is also a name of colour.

a. Pineapple

b. Pomegranate

c. Peach

Ans.5 (c) Peach

Feedback- A unique mixture of orange, yellow and white colour is peach

6. Look at the picture and complete the sentence.

The child splashed int0 @ ......ccccoeeevveeve e

a. Lake

b. Pond

c. River

Ans. 6 (b) Pond

Feedback — Small pit filled with water is called pond
GRAMMAR ot

7. Complete the sentence with correct word.

| (o U] needs combing.

b. hairs
Ans. 7 (a) hair
Feedback - The reason for this is that "hair" is typically considered a collective

noun, and when referring to the general concept of hair on one's head or body, it is
treated as a singular noun.

8. Rearrange the words to frame a meaningful sentence.
train/ comes / the / here

a. train comes the here.

b. Here comes the train.

c. The train comes here.

Ans. 8 (c) The train comes here.

Feedback- the word order for a simple sentence is subject-verb-object (SVO). In
this sentence:

WRITING
9. What do freight cars carry?
a. Passengers
b. Heavy loads/ goods
c. Both
Ans. 9 (b) Heavy loads/ goods



Feedback - Freight cars are designed to carry heavy loads and goods, not
passengers..
10. Who is addressed as a foolish bird in the chapter ‘The story of Road’.

a. Pigeon

b. Owl

c. Crow

Ans. 10 (c) Crow

Feedback - In the chapter "The Story of the Road," the foolish bird is addressed as
a crow.
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Maths
Knowledge
1. How many months are there in a year?
a. 10
b.12-
c.14
d.o
Ans.1(b) 12

Feedback- There are 12 months in a year.
2. The short hand of the clock shows

a. Minute

b. Seconds

c. Days

d. hour

Ans. 2 (d) hour

Feedback - The short hand of the clock typically shows the hour, while the long
hand shows the minutes, and the seconds are usually indicated by a separate
seconds hand on some clocks.

Understanding
3. Look at the number pattern. Fill the missing number.
100, 200, , 400, 500, 600, 700.
a. 300



b. 400

c. 250

d. 350

Ans. 3 (a) 300

Feedback - The sequence follows an increment of 100 between each number: 100,
200, 300, 400, 500, 600, 700. So, the missing number is 400.

4. Which of the following is correct time of following clock
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a.10:2

b.10:10

c.2:10

d.10:20

Ans.4(b)10:10

Feedback - The clock shows 10 hours and 10 minutes.

Ability to Compute
5. Find the missing number

6
'3
6|0
a.9,6
b.5,4
c.7,4
d.1,3

Ans. 5 (a) 9,6
Feedback - 9-3=6
6-6=0



6. Rani bought a skirt for Rs. 300 and trousers for Rs. 100. How much money
did she spend altogether?

a. 200

b. 290

c. 300

d. 400

Ans. 6 (d) 400

Feedback- Rani spents Rs. 300 on the skirt
and Rs. 100 on the trousers
total amount she spents Rs. 300 + Rs. 100 = Rs. 400.

Problem Solving

7.
Form Number 5
Government of New Delhi

Birth Certificate
This is to certify that this information is taken from
the original record of birth which is in the register
for the year 1993 of New Delhi.
Name : Rahul
Sex : Male
Date of birth : 12/10/1993

(Twelve October, Nineteen Ninety Three)
Place of birth : Kolkata
Name of Father : Ramesh
Name of Mother : Rakhi
Date of Registration - 12/10/1993
Registration Number : 115/93
" Date : 05.02.1994 . Signature of issuing
authority

12/10/1993 shows that Rahul was bornon 12 | in the year 1993.
a. July
b. September
c. December
d. October
Ans. 7 (d) October

Feedback - The date "12/10/1993" indicates that Rahul was born on 12th October
in the year 1993.

8. How old will Rahul be on 12 October 1997 ?
a.4
b. 6



c.7

d.9
Ans. 8 (a) 4
Feedback - On 12 October 1997, Rahul will be 4 years older than he was on 12
October 1993. So, to calculate his age on 12 October 1997, you subtract his birth

year (1993) from the target year (1997): 1997-1993 =4
Rahul will be 4 years old on 12 October 1997.

9. On what date will he be seven years old?
a. 1990
b. 2002
c. 2010
d. 2000
Ans. 9 (d) 2000

Feedback - If Rahul was born on 12 October 1993, he will turn seven years old on
his birthday in 2000.

10. How many years old is Rahul now?
a. 50

b. 30
c. 40
d. 70
Ans. 10 (b) 30
Feedback - 2023 - 1993 = 30 years old So, Rahul is currently 30 years old.

SUBJECT — EVS
OBSERVATION AND REPORTING

1. Identify the picture

a) truck ¢) ambulance

Answer — c) ambulance



Feedback - An ambulance is a specially equipped vehicle used for transporting sick
or injured people, often in emergency situations, to a medical facility for treatment
and care.

2. ldentify the picture

b) chef c) pilot
Answer - b) chef

Feedback - A chef is a skilled professional cook responsible for preparing and
overseeing the cooking of food in culinary establishments, such as restaurants and
hotels.

3. Identify the picture
a) yatch b) space ship c) helicopter

Answer - b) space ship

Feedback - A spaceship is a vehicle designed for travel or exploration in outer
space, typically used for missions beyond Earth's atmosphere.

CLASSIFIACTION AND IDENTIFICATION

4. Who repairs car and scooter?

a) mechanic b) driver c) barber
Answer - a) mechanic

Feedback - Mechanics are professionals who repair cars and scooters. Drivers
operate vehicles, and barbers are skilled in haircutting and grooming, which is
unrelated to vehicle repair.

5. Full form of CNG is?



a) Compile Natural Gas b) Compressed Natural Gas c¢) Common

Natural Gas
Answer - b) Compressed Natural Gas

Feedback -CNG stands for "Compressed Natural Gas," which is a fuel used in
vehicles.

6. Who cuts our hair?
a) gardener b) cobbler c) barber
Answer - c) barber

Feedback - Barbers are professionals who cut and style hair. Gardeners
tend to gardens and plants, while cobblers work with shoes and footwear.

DISCOVERY OF FACTS

7. The emergency number for the ambulance is?

a) 100 b) 104 c) 102

Answer -c) 102

Feedback - The emergency number for an ambulance in india is 102
8. The person who fly/control the plane is called?

a) teamster b) captain c) pilot

Answer - c) pilot

Feedback - The person who flies and controls the plane is called a pilot.
9. Which of the following is the slowest mode of transport?

a) train b) scooter c) bullock cart

Answer - c) bullock cart

Feedback - Among the options listed, a bullock cart is typically the
slowest mode of transport as it is pulled by bullocks (oxen) and moves at
a relatively slow pace. Trains and scooters are generally faster means of
transportation.



10. Which of the following is an example of a water-based mode of
transportation?

a) car b) boat c) rocket
Answer - b) boat

Feedback - A boat is an example of a water-based mode of transportation, as
it is designed to travel on water. Cars and rockets are typically used on land and
in outer space, respectively.



